RESOLUTION NO. 641

A RESOLUTION APPROVING THE BID PROCESS; ACCEPTING THE LOW QUALIFIED BID; AWARDING THE CONTRACT TO THE LOW QUALIFIED BIDDER; VERIFYING FUND AVAILABILITY; AUTHORIZING THE EXPENDITURE OF FUNDS AND AUTHORIZING STAFF TO APPROVE ALL MONTHLY PAYMENTS FOR THE 95TH STREET WATERLINE PROJECT PHASE II.

WHEREAS, sealed bids were received prior to 3:00 p.m. Pacific Standard Time, Thursday, November 5, 1987, at Wilsonville City Hall, 30000 S.W. Town Center Loop East, Wilsonville, Oregon 97070. Bids were then opened individually and separately and read aloud after 3:00 p.m. Pacific Standard Time on November 5, 1987, and are listed in the attached Exhibit "A"; and

WHEREAS, Dick Drinkwater, the City Engineer for the City of Wilsonville, has reviewed all bids received for completeness, additions and omissions and therefore acknowledges C & M Construction, Inc., as the bidder with the lowest qualified bid amount as shown in Exhibit "A", attached hereto and incorporated as if fully set forth herein; and

WHEREAS, the City Engineer recommends the award of the contract for the 95th Street Waterline Extension Phase II project to C & M Construction, Inc., for a total bid price of seventy-eight thousand, four hundred seventeen dollars and eighty-five cents (\$78,417.85); and

WHEREAS, the Finance Director has reviewed the fund to which expenditures will be accounted to, and has verified that funds are available to complete this project; and

WHEREAS, in order to assure that the contractor's engineers and other contractual services provided and payments required for the 95th Street Waterline Extension Phase II project receive prompt payment for monthly work performed, the City Engineer shall approve all monthly payments as herein provided.

NOW, THEREFORE, IT IS HEREBY RESOLVED by the City Council of the City of Wilsonville that:

- 1. The City Council acknowledges that all bids were received, publicly opened and approved as being completed for consideration for award according to the provisions of Oregon Revised Statutes 279.025, "Requirements of Advertisement".
- 2. The acceptance of the contract of the lowest qualified bidder, and awarding the contract to the lowest qualified bidder.

NAME	C & M Construction, Inc.							
ADDRESS	13805 S.W. Tualatin - Sherwood Road							
	Sherwood OR 97045							
PHONE NO.	625-5289							
For a total bid price of: \$78,417.85								
For a project know	vn as: The 95th Street Waterline Extension Phase II							
3. Authorize the expenditure of funds for this contract from:								

ACCOUNT NO.

AMOUNT

3-56-7453000

\$78,417.85

TOTAL:

\$78,417.85

Engineering, other contractual services and other payments shall come from Account No. 3-56-7453000. All amounts listed in Exhibit "A" are based on a combination of lump sum and estimated unit price bids. Final amounts of estimated unit prices may vary.

4. The Finance Director, by his signature below, has verified that funds are available in the account number mentioned in Item #3 above, for payment of all billing for this project.

Finance Director

Date:

- 5. All payments for monthly construction billings or services during construction billings, shall be approved by the City Engineer or duly authorized representative. All change orders shall be approved by the City Council, prior to payment; all field changes shall be approved by the City Engineer, or duly authorized representative, prior to payment of field changes.
- 6. The final payment shall not be paid until the City Council has authorized said payment to be made.

ADOPTED by the City Council of the City of Wilsonville at a regular meeting thereof the <u>16th</u> day of November, 1987 and filed with the Wilsonville City Recorder this same day.

WILLIAM E. STARK, Mayor

ATTEST:

VERA A. ROJAS, City Recorder

SUMMARY OF VOTES:

Mayor Stark AYE

Councilor Edwards <u>AYE</u>

Councilor Braymen AYE

Councilor Clarke AYE

Councilor Jameson AYE

000 S.W. Town Center Loop E. • P.O. Box 220 • 503-682-1011

Wilsonville, Oregon 97070

95TH STREET WATERLINE EXTENSION PHASE II

RESULTS OF NOVEMBER 5, 1987 - 3:00 P.M. BID OPENING:

- 1. C & M CONSTRUCTION 13805 SW Tualatin/Sherwood Sherwood OR 97140 \$78,417.85
- 8. CASCADE DITCHING CO. 2982 Pringle Rd SE Salem OR 97302 \$97,240.01
- 2. INTERTEC CONST. CO. 8835 SW Canyon Portland OR 97225 \$81,469.94
- 9. QUALITY ROCK CO. 21630 SW Farmington Rd. Beaverton OR 97007 \$99,832.40

3. WERBIN WEST 5606 NE 16th Portland OR 97211 \$85,755.75

- 10. SCHARFF BROS. 150 Cordon Rd NE Salem OR 97301-5229 \$107,533.15
- 4. JIM SMITH EXCAV. INC. PO Box 429
 Oregon City OR 97045
 \$86,036.24
- 11. ALLIANCE CORP. 1855 NE Country Clb. Dr. Canby OR 97013 \$108,735.50
- 5. GEORGE SCHMID & SONS 1411 32nd St Washougal WA 98671 \$89,449.50
- 12. MARV'S UTILITY SPEC. 1920 Hyacinth NE Salem OR 97303 \$109,168.00
- 6. DIRT & AGGREGATE INTERCHANGE, INC. 20905 NE Sandy Bl. Troutdale OR 97060 \$92,861.00
- 13. LES BROWN EXCAV., INC. 34215 SE Dodge Pk Bl Gresham OR 97030 \$125,110.00

Rev. 11/5

7. R. KONRADSON CONST. 12170 SW 12th Beaverton OR 97005 \$94,469.30

NIKE II SUMMARY OF QUANITIES

TTCM	T UNITT	т	NET	ŤΔ	LLOU	T /	EDOCC	TECTTUATE	_	
ITEM	I UNIT	Ī	NET	I	LLUW	I	BRUSS	IESTIMATE I	I	SUMMATION
FIELD RESTORATION AFTER	I	I		Ī		I		I	Ī	
CONSTRUCTION	Į L.S.		ALL	I	Ø	I	1	I\$5,500.00	B	\$5,500.00
TRENCH EXCAVATION, COMMON	I ICU. YD	I	2250	I I	225	I	2475	I \$1.33	I I	\$3,291.75
THENOTI EXOLUTION, COMING	I .	Ī	2200	Î	220	Ī	2410	I \$1.55	I	\$5,231.(3
ROCK EXCAVATION (IF THERE)	ICU. YD	.I	200	I	50	I	250	I \$65.00	ľ	\$16,250.00
CONTRACT PRINT TOUR	I	I	1200	I	. 70	I	1.470	I	I	
GRAVEL BASE & PIPE ZONE	ICU. YD	ı.ı I	1300	I I	130	I	1430	I \$9.75	Į.	\$13,942.50
6" DUCLILE IRON PIPE CL 52	-	_	100	-	10	Ī	110		I.	\$1,999.80
	I	I		I	•	Į		I	I.	\$0.00
12" DUCTILE IRON PIPE CL 50	_		2700		18		2718		I	\$64,008.90
12"X6" TEE	I I EA	I	2	I	1	I	7	I mare aa	I	#00F AA
12"X6" TEE	I	I	۲.	I	7	I	3	I \$275.00	T,	\$825.00
12" BUTTERFLY VALVE COMP.	I EA	Ī	2		1		. 3	I \$625.00	I	\$1,875.00
	I	I		Ι		Ι		I	I	,
6" GATE VALVE COMPLETE	I EA	I	2		1		3	I \$245.00	I	\$735.00
FIRE HYDRANTS COMPLETE	I I EA	I I	2	I	1	I	7	I I\$1,235.00	1	\$3,705.00
FIRE HIDRANIS CONFLETE	I	Ī	2	I	1	Ĭ	5	I.	Ť	\$5,705.00
AIR RELEASE VALUES COMPLETE	EI EA	Ī	1	Ī	1	I	2	I \$933.00	I	\$1,865.00
	I	I		Ï		I		I	I	,
BLOW OFF ASSEMBLY COMPLETE		Ĩ	ALL	Ī		I	1		I	\$125.00
REMOVE AND SALVAGE	I T	I T		I I		I I		I I	T	
THRUST BLOCKING	I L.S.	I	ALL	I	Ø	-	1	-	Ι,	\$300.00
	1	I		Ī	_	Ī	-	I	Ī	
STRADDLE BLOCKS COMPLETE	I EA	I	1	I	1	I	2	I \$125.00	I	\$250.00
	I	I		I		I	_	I	I	* (00 00
GRAVITY THRUST BLOCK	I EA I	Į	1	į T	1	I	2	I \$200.00	I	
TESTING AND CHLORINATION	I L.S.	I	ALL	I	0	-	1	_	I	
TEST THE THE SHESTITION	I	Ī		Î	•	Î	•	I 450.00	Ī	
NOTE: THESE QUANITIES ARE	1	I		I		I		I	I	
FOR THE CONTRACTOR'S BID- I		I		I		I		ITOTAL	I	\$115,523.95
DING PURPOSES, HOWEVER SITEI		Ī		I		I		I	Ï	
CONDITIONS & WEATHER MAY I I AFFECT FINAL QUANITIES.				I		I		1	1	
ULLEP! LTMUF ANNMILITES.										

ESTIMATE BY RLD 11/05/87 FROM PREVIOUS

CONNEY SPROW

October 6, 1987

GRY OF A CONTROL

Honorable Mayor Bill Stark City Council City of Wilsonville Wilsonville, Oregon 97070

Subject: Advance Payment of

Phase II Waterline

Gentlemen:

Initially please accept our appreciation for your efforts in awarding the phase II Waterline contract in a timely manner. Our company is in dire need of the loop Phase II will provide for our fire protection system at our distribution center located in your city.

Enclosed is a check in the amount of \$75,000 made out to your city. Inasmuch as you are unable to provide us with an accurate accounting of the exact amount of funds which will be required to complete the project, we are submitting this amount so that construction can begin immediately.

Respectfully submitted,

Robert L. Strasser

Director of Distribution

and Transportation

RLS:1h

Doc: 3009E